00000000 U o0 (6)

20070 110 30000

1 00O FourierUOQOQOQOQOQOQd

i) -L<z<LO0000000000 2L000 f(z)=e 000 Fourier 00O
0o

n=—oo

goooooooooooognog k0 k>00000

ii) 0<z<TO000 fr)=9%0000000000000000000 TODODO
OFourier DO OOD0OO0O0OD0O0OD0DOe0DOODODOODOO

i) 0<2<10000 f(z)=Asinmz, f(x+L) = f(z), (L=1)00000000
000 Fourler 000000000000 ADODOOOOODO

iv) - L<2x<LO000000000O0 200000 f(x) 000 Fourter 0O O OO
O Parseval 0 O O

L o)
o | Farde= 3 el 2)

n=—oo

OO0 Fouriler OO0 Parseval OO0 000000 OOOOOO

v) «00000000000000 f(z) =€, (—r <z <) 000 Fourier 0 0 0
00000000 Parseval DO OO0 OO0ODO

[e.e]

1 2
Z (n—a)? )

sin” amw
n=—oo

O00000000000000000 f(x) DO0ODOO0OO0OO0OOParseval000OO0O

L 00
o | @k = 3 P g

n=—oo

gboobooooboobd



